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Abstract A packet aggregation mechanism for P2P Massively Multiplay Online Game(MMOG) is proposed, which aggregates game packets into
a single packet based on game interactivity threshold and aggregation threshold. The number of transmissions for data packets and the load caused
by the header of packets are reduced. Moreover, an analysis method is developed to evaluate this aggregation mechanism in terms of the average
aggregation degree and aggregation latency. Experimental results show this aggregation mechanism saves bandwidth and satisfies the real-time
requirement of P2P MMOG.
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